Algebra 2







Name: _________________________

Unit 1, Day 12







Date: _____________ Period: _____

Investigating Non–Linear Systems Using Graphing Calculators
Type both functions into a graphing calculator.  Determine the following information for each function. Show all work!
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	y–intercept:  (___ , ___)   vertex:  (___ , ___)   

x–intercepts:  (_____ , _____), (_____ , _____)

Domain:  ____________________

Range:  _____________________

Line of symmetry: ____________


	y–intercept:  (___ , ___)   x–intercept:  (___ , ___)   

Endpoint:  (___ , ___)   

Domain:  ____________________

Range:  _____________________



	

	Use the INTERSECTION operation on your graphing calculators to find the points of intersection.  



Choose both curves.  (Hint:                      twice.)

Arrow the cursor over one point of intersection and hit                     again.  

Repeat the process to find the other intersection.

Points of intersection:

(_______ , _______)   and (_______ , _______)   


Practice & Review: Show all your work and reasoning.  Use a pencil and highlight your answers.
	1.  For each of the following, determine whether or not it is a function.  Then find the domain and range.   


	
	a)  


	b)  
	c)  

	FUNCTION:
	YES / NO
	YES / NO
	YES / NO

	DOMAIN:
	_____________________
	_____________________
	_____________________

	RANGE:
	_____________________
	_____________________
	_____________________


	2.  Factor completely.  

	a)  
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	c)  
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	3.  Solve for x.  

	a)  
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	c)  
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	4.  Solve the linear systems.  

	a)  
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	5.  Given 
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, evaluate the following. 

	a)  
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	6.  Determine the x– and y–intercepts for the following functions.

	a)  
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	7.  Investigate each function.  Use the checklist below.  Be sure to include a complete graph.  

	a)  
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	b)  
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	Pick x-values that will give “nice” y-values.

x

y

y–intercept: 

x–intercept: 

endpoint: 

domain: 

range: 
	y–intercept: 

x–intercepts: 

axis of symmetry: 

vertex: 

domain: 

range: 
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Select  TABLE  on the calculator, and fill in the values for each table.  You will have to arrow up and down in the X column to view more values.
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